Urcéete, pro které hodnoty proménnych maji dané vyrazy smysi.
x1
Sx

1)

2)

3)

2x+6
—3x+2

—-5x+9
8—T7x
3-8x
S5+9x
8+2x
—-2x-5
(3——2x)(6x—%3)
3x+7
2x% —5Sx
x*+1
x> —81
—6x+2
X +5x
4x-3
x’ —25x
8x
9x* -1
3x-5
x> —12x+36
3+9x
x> +14x+49
3x—5.5x—2
3x-8 —6-4x

4)

S)

6)

7)

8)

9

10)

11)

12)

13)

14)

15)




Reseni

)
5x#0 /:5

x#0
Podminky vyrazu: x =0

2)

x—8#0

x#8

Podminky vyrazu: x =8

3)
2x+6#0

2x#—6 /:2

x#-3

Podminky vyrazu: x #-3
4)

-5x+9+#0

—Sx#-9 /: (—5)

9
X#=
5
Podminky vyrazu: x #—

)
3-8x#0

—8x#-3/ :(—8)
3
X#=
8
. , 3
Podminky vyrazu: x #—

6)
8+2x#0

2x#-8 /:2
x#—4
Podminky vyrazu: x #—4



7
3—2x#0 azaroven 6x+3#0

—2x#-3 /:(-2) azérove 6x=-3 /:6
X #— azaroven x #——
2 2

Podminky vyrazu: x # % ;X # —l

2

8)
2x* =5x#0
x-(2x—5)¢0
x#0 aziroven 2x—-5#0

2x#5 /:2

22

2

Podminky vyrazu: x #0;x # %

9)

x*—=81%0
(x+9)-(x—9)¢0

x+9#0 azaroven x—9=0

x#-9 azarovenn x#9
Podminky vyrazu: x #-9; x#9

10)

X +5x#0

x-(x2+5):t0

x#0 azaroveii x> +5%0

x#0 azéaroven xmuze byt libovolné Cislo
Podminky vyrazu: x#0

11)
X —=25x#0
x-(x2—25)¢0

x-(x+5)-(x—5)¢0
x#0 azaroven x #—5 azaroven x #5
Podminky vyrazu: x#0; x #-5;x#5



12)

9x* —1#0

(3x+l)-(3x—1)¢0

x;«r&—l a zaroven x;«r&l
3 3

Podminky vyrazu: x = i%

13)
X —12x+36%0

(x—6)" #0
(x—6)-(x—6)¢0

xX#6

Podminky vyrazu: x # 6
14)

X' +14x+49#0

(x+7) %0
(x+7)-(x+7)#0
x#-7

Podminky vyrazu: x # -7

15)
3x—8%0 azaroven —6—4x=0

3x#8 /:3 azaroven —4x#6 /:(—4)
8 ) . 3

X#— azaroveh x #——
3 2

8
Podminky vyrazu: x # E; X # —5



